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Copyright Notice

Reprinting or duplicating the contents of this webpage for pattern sharing by any means, including, computer scanning, email, personal websites, fax, digital photography and copying machine is illegal. Failure to abide by international copyrights laws will result in litigation and fines. You can share a link to the source of the pattern

You are allowed to make a copy of the pattern for your own personal use. You are also granted limited rights to use a design(s) for creating items for sale, craft shows, bazaars, and fund-raisers. No more than two of the same designs at any given time should be made and displayed, and credits must be given to the Designer. Mass production of these designs is prohibited.
Filet Fairy Right Handed Lesson 4

	Second half of fairy Instructions
Flip graph and Fairy upside down to start working on the other side of row 01
Row 69: Working from left to right on graph 

Attach thread as indicated in graph to make the fairy arm, ch 3. 2 blocks (7 dc), 2 meshes, 2 blocks (7 dc).

	Row 70: Working from right to left on graph. 

Ch 6 for one block increase.
2 blocks (7 dc), 3 meshes, 1 block (4 dc).

	Row 71: Working from left to right on graph. 

Ch 3.
1 block (4 dc), 4 meshes, 1 block (4 dc) and 1 block increase (3 dc).
You should have 7 dc at end of row.

	Row 72: Working from right to left on graph. 

Ch 3.
1 block (4 dc), 5 meshes, 1 block (4 dc).

	Row 73: Working from left to right on graph. 

Ch 3.
1 block (4 dc), 4 meshes, 1 block (4 dc).

	Row 74: Working from right to left on graph. 

Ch 3.
1 block (4 dc), 3 meshes, 1 block (4 dc).

	Row 75: Working from left to right on graph. 

Ch 3.
2 blocks (7 dc), 1 mesh, 1 block (4 dc).

	Row 76: Working from right to left on graph. 

Sl st in 4 dc, for 1 block decrease, ch 3.
1 block (4 dc).   (Fasten off).

	Row 77: Working from left to right on graph. 

Attach thread to row 01 as indicated on graph, ch 3.
1 block (4 dc), 4 meshes, 2 blocks (7 dc), 1 mesh, 3 blocks (10 dc), 3 meshes, 1 block (4 dc). 

	Row 78: Working from right to left on graph. 

Ch 3.
1 block (4 dc), 6 meshes, 4 blocks (13 dc), 3 meshes, 1 block (4 dc).

	Row 79: Working from left to right on graph. 

Ch 6, for 1 block increase.
2 blocks (7 dc), 2 meshes, 1 block (4 dc), 8 meshes, 3 blocks (10 dc).

	Row 80: Working from right to left on graph. 

Ch 3.
1 block (4 dc), 2 meshes, 1 block (4 dc), 9 meshes, 3 blocks (10 dc).

	Row 81: Working from left to right on graph. 

Ch 6 for 1 block increase.
1 block (4 dc), 2 meshes, 1 block (4 dc), 6 meshes, 3 blocks (10 dc), 2 meshes, 1 block (4 dc).

	Row 82: Working from right to left on graph. 

Sl st in 4 dc for 1 block decrease, ch 3.
1 block (4 dc), 3 meshes, 4 blocks (13 dc), 2 meshes, 2 blocks (7 dc), 2 meshes, 1 block (4 dc).

	Row 83: Working from left to right on graph. 
Ch 6 for 1 block increase.
1 block (4 dc), 4 meshes, 4 blocks (13 dc), 5 meshes, 1 block (4 dc).

	Row 84: Working from right to left on graph. 
Ch 3.
1 block (4 dc), 13 meshes, 1 block (4 dc).

	Row 85: Working from left to right on graph. 

Ch 3.
1 block (4 dc), 13 meshes, 1 block (4 dc).

	Row 86: Working from right to left on graph. 

Sl st in 4 dc for 1 block decrease, ch 3.
1 block (4 dc), 12 meshes, 1 block (4 dc).

	Row 87: Working from left to right on graph. 
Ch 3.
1 block (4 dc), 12 meshes, 1 block (4 dc).

	Row 88: Working from right to left on graph. 

1 block (4 dc), 12 meshes, 1 block (4 dc).

	Row 89: Working from left to right on graph. 

Ch 3.
1 block (4 dc), 12 meshes, 1 block (4 dc), and 1 block increase (3 dc). 
You should have 7 dc at end of row.

	Row 90: Working from right to left on graph. 

Ch 9 for 2 blocks increase.
2 blocks (7 dc), 2 meshes, 1 block (4 dc), 1 mesh, 6 blocks (19 dc), 4 meshes, 1 block (4 dc). 

	Row 91:  Working from left to right on graph. 

Ch 3.
1 block (4 dc), 10 meshes, 2 blocks (7 dc), 3 meshes, 1 block (4 dc), and 1 block increase (3 dc).
You should have 7 dc at the end of row.

	Row 92:  Working from right to left on graph. 

Ch 6 for 1 block increase.
1 block (4 dc), 4 meshes, 1 block (4 dc), 11 meshes, 1 block (4 dc).

	Row 93:  Working from left to right on graph. 

Ch 3.
1 block (4 dc), 12 meshes, 1 block (4 dc), 4 meshes, 1 block increase (3 dc).
You should have 4 dc at end of row.

	Row 94:  Working from right to left on graph. 

Ch 6 for 1 block increase.
1 block (4 dc), 4 meshes, 1 block (4 dc), 12 meshes, 1 block (4 dc).

	Row 95:  Working from left to right on graph. 

Sl st in 4 dc for 1 block decrease, ch 3.
1 block (4 dc), 11 meshes, 1 block (4 dc), 5 meshes, 1 block increase (3 dc).
You should have 4 dc at end of row.

	Row 96:  Working from right to left on graph. 

Ch 3.
1 block (4 dc), 4 meshes, 1 block (4 dc), 10 meshes, 2 blocks (7 dc), 1 mesh, 1 block increase (4 dc).
You should have 4 dc at end of row.

	Row 97:  Working from left to right on graph. 

Ch 6 for 1 block increase.
1 block (4 dc), 4 meshes, 1 block (4 dc), 9 meshes, 1 block (4 dc), 5 meshes 1 block increase (3 dc).
You should have 4 dc at end of row.

	Row 98:  Working from right to left on graph. 

Ch 6 for 1 block increase.
1 block (4 dc), 6 meshes, 1 block (4 dc), 7 meshes, 2 blocks (7 dc), 6 meshes, 1 block increase (3 dc).
You should have 4 dc at end of row.

	Row 99 Working from left to right on graph. 

Ch 6 for 1 block increase.
1 block (4 dc), 9 meshes, 2 blocks (7 dc), 6 meshes, 1 block (4 dc), 5 meshes, 1 block.

	Row 100:  Working from right to left on graph. 

Ch 6 for 1 block increase.
1 block (4 dc), 6 meshes, 1 block (4 dc), 4 meshes, 2 blocks (7 dc), 12 meshes, 1 block increase (3 dc).
You should have 4 dc at end of row.

	Row 101:  Working from left to right on graph. 

Ch 3.
1 block (4 dc), 4 meshes, 5 blocks (16 dc), 5 meshes, 1 block (4 dc), 4 meshes, 1 block 5 meshes, 1 block (4 dc).

	Row 102:  Working from right to left on graph. 

Ch 3.
1 block (4 dc), 5 meshes, 1 block (4 dc), 8 meshes, 2 blocks (7 dc).

	Row 103:  Working from left to right on graph. 

Sl st in 7 dc, ch 3.
3 blocks (10 dc), 4 meshes, 3 blocks (10 dc), 4 meshes, 1 block (4 dc).

	Row 104:  Working from right to left on graph. 

Ch 3.
1 block (4 dc), 4 meshes, 7 blocks (22 dc).

	Row 105:  Working from left to right on graph. 

Sl st in 16 dc, ch 3.
1 block (4 dc), 4 meshes, 2 blocks (7 dc).

	Row 106:  Working from right to left on graph. 

Sl st in 4 dc, ch 3.
1 block (4 dc), 4 meshes, 1 block (4 dc).

	Row 107:  Working from left to right on graph. 

 Ch 3.
1 block (4 dc), 4 meshes, 1 block (4 dc).

	Row 108:  Working from right to left on graph. 

 Ch 3.
1 block (4 dc), 4 meshes, 1 block (4 dc).

	Row 109:  Working from left to right on graph. 

 Ch 3.
1 block (4 dc), 3 meshes, 2 blocks (7 dc).

	Row 110:  Working from right to left on graph. 

 Ch 3.
1 block (4 dc), 3 meshes, 1 block (4 dc).

	Row 111:  Working from left to right on graph. 

 Ch 3.
1 block (4 dc), 3 meshes, 1 block (4 dc).

	Row 112:  Working from right to left on graph. 

 Ch 3.
1 block (4 dc), 3 meshes, 1 block (4 dc).

	Row 113:  Working from left to right on graph. 

 Ch 3.
1 block (4 dc), 3 meshes, 1 block (4 dc).

	Row 114:  Working from right to left on graph. 

 Ch 3.
1 block (4 dc), 3 meshes, 1 block (4 dc).

	Row 115:  Working from left to right on graph. 

 Ch 3.
1 block (4 dc), 3 meshes, 1 block (4 dc).

	Row 116:  Working from right to left on graph. 

 Ch 3.
2 blocks (7 dc), 2 meshes, 1 block (4 dc).

	Row 117:  Working from left to right on graph. 

 Ch 9 for two blocks increase.
3 blocks (10 dc), 2 meshes, 1 block (4 dc).

	Row 118:  Working from right to left on graph. 

 Ch 3.
1 block (4 dc), 4 meshes, 1 block (4 dc).

	Row 119:  Working from left to right on graph. 

 Ch 3.
1 block (4 dc), 4 meshes, 1 block (4 dc).

	Row 120:  Working from right to left on graph. 

 Ch 3.
2 blocks (7 dc), 3 meshes, 1 block (4 dc).

	Row 121:  Working from left to right on graph. 

 Ch 3.
2 blocks (7 dc), 2 meshes, 1 block (4 dc).

	Row 122:  Working from right to left on graph. 

 Ch 3.
1 block (4 dc), 2 meshes, 1 block (4 dc).

	Row 123:  Working from left to right on graph. 

 Ch 3.
1 block (4 dc), 2 meshes, 1 block (4 dc).

	Row 124:  Working from right to left on graph. 

 Ch 6 for 1 block increase.
2 blocks (7 dc), 2 meshes, 1 block (4 dc).

	Row 125:  Working from left to right on graph. 

 Ch 3.
1 block (4 dc), 1 mesh, 1 block (4 dc) 1 mesh, 1 block (4 dc).

	Row 126:  Working from right to left on graph. 

 Ch 3.
4 blocks (13 dc).

	Row 127:  Working from right to left on graph. 

 Sl st in 4 dc for 1 block decrease, ch 3.
3 blocks (10 dc).   (Fasten off).

	Row 128:  Working from right to left on graph. 

 Attach thread as indicated on graph, ch 3.
5 blocks (16 dc).

	Row 129:  Working from left to right on graph. 

 Ch 3.
3 blocks (10 dc).

	Row 130:  Working from right to left on graph. 

Sl st in 4 dc for 1 block decrease, ch 3.
1 block (4 dc).   (Fasten off).

	This completes the instructions for the Fairy wall hanging. 


